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Remember: Heat energy can be “spent” on only one job at a time.  Either it will cause a change in temperature or change of state.  Each must be calculated separately. 
c(ice) = 2.06 J/g(C,    c(H2O) = 4.184 J/g(C,    c(steam) = 1.87 J/g(C,   

(H(fus) for H2O is 334.J/g,     (H(vap) for H2O is 2260 J/g
1. How much energy is released to the environment by 50.0 grams of condensing water vapor?

2. Is melting endothermic or exothermic? Explain.

3. Calculate the amount of heat needed to melt 35.0 g of ice at 0 ºC. Express your answer in kilojoules.

4. Calculate the amount of heat needed to convert 190.0 g of liquid water at 18 ºC to steam at 100. ºC. (two calculations!).

5. Calculate the amount of heat needed to convert 96 g of ice at –24 ºC to water at 28 ºC. (figure out how many steps first and be sure to use correct specific heats)

6. Calculate the amount of heat released to the environment as 245 g of steam at 140 ºC is cooled to –15 ºC. (go for it!)

